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Guess Paper – 2009

Class – XII

Subject –Chemistry 

(Solutions )     
        Time  1:30 hr
Q 1 Define binary solution? 

Mark (1) 

Q 2 What is molarity? 

Mark (1) 

Q 3 What do you understand by saying that molality of a solution is 0.2? 

Mark (1) 

Q 4 Why is the vapour pressure of a liquid remains constant at constant temperature? 

Mark (1) 

Q 5 Define Azeotropes? 

Mark (1) 

Q 6 Which substance is usually added into water in the car radiator to act as antifreeze? 

Mark (1) 

Q 7 Which liquids form ideal solution? 

Mark (1) 

Q 8 Which property of solution depend only upon the number of moles of solute dissolved and not on the nature of the solute? 

Mark (1) 

Q 9 Write one example each of solid in gas and liquid in gas solution? 

Mark (1) 

Q 10 What is molal elevation constant or ebullioscopic constant? 
Mark (1) 

Q 11 Define van’t  Hoff factor. 

Mark (1) 

Q 12 Two liquids A and B boil at 1200c and 1600c respectively. Which of them has higher vapour pressure at 700 c? 

Mark (1) 

Q 13 What happens when blood cells are placed in pure water? 

Mark (1) 

Q 14 What is the effect of temperature on the molality of a solution? 

Mark (1) 

Q 15 Write Henry’s law. 

Mark (1) 

Q 16 What is the relation between normality and molarity of a given solution. 

Mark (1) 

Q 17 What is an antifreeze? 

Mark (1) 

Q 18 Why cutting onions taken from the fridge is more comfortable than cutting onions lying at room temperature? 

Mark (1) 

Q 19 What will be the van’t Hoff factor for O.1 M ideal solution? 

Mark (1) 

Q 20 What are colligative properties?  Name them. 

Marks (2) 

Q 21 Which is better method for expressing concentration of solution – Molarity or Molality? 

Marks (2) 

Q 22 Define-
             (i) Mole fraction         
             (ii) Molality
Marks (2) 

Q 23 The osmotic pressure of human blood is 7.65 atm at 37°C.  For injecting glucose solution it is necessary the glucose solution has same osmotic pressure as of human blood.   Find the molarity of glucose solution having same osmotic pressure as of human blood. 
Marks (2) 

Q 24 Vapour pressure of two liquid A and B are 120 and 180mm Hg at a given temperature.  If 2 mole of A and 3 mole of B are mixed to form an ideal solution, calculate the vapour pressure of solution at the same temperature. 
Marks (2) 

Q 25 Density of 1 M solution of glucose 1.18g/cm3.  Kf for H2O is 
 1.86 Km–1.  Find freezing point of solution.    
Marks (2) 

Q 26 An aqueous solution freezes at  –0.186°C. 
Kf = 1.86°,   Kb = 0.512.   Find elevation in boiling point.
Marks (2) 

Q 27 Vapour pressure of dilute solution of glucose is 750 mm of Hg at  373K.  Calculate the mole fraction of solute. 

Marks (2) 

Q 28 Ethylene glycol solution having molality 0.5 is used as coolant in a car.  Calculate the freezing point of solution (given Kf=1.86 °C/mole) 

Marks (2) 

Q 29 Calculate the molality of solution prepared by dissolving 18g of glucose 500g of water. 

Marks (2) 

Q 30 Find the vant Hoff factor for 
Marks (2) 

Q 31 On a hill station pure water boils at 99.82°C.  The Kb of water is 0.513°C Kg mol–1.  Calculate the boiling point of 0.69m solution of urea. 
Marks (2) 

Q 32 A solution of ethanol in water is 1.6 molal.  How many grams of ethanol are present in 500g of the solution.  
Marks (2) 

Q 33 A decimolar solution of NaCl exerts osmotic pressure of 4.6 atm at 300K.  Find the degree of dissolution.  
Marks (3) 

Q 34 An aqueous solution of a non-volatile and non-electrolyte substance boils at 100.5°C.  Calculate osmotic pressure of this solution at 27°C. Kb (for water) per 1000g = 0.50. 
Marks (3) 

Q 35 The vapour pressure of benzene at certain temperature is 640mm Hg.  To 39.08 of benzene, non-volatile and non-electrolyte solid-weighing 2.175g was added.  The vapour pressure of solution was 600mm of Hg. Find the mass of the solute? 
Marks (3) 

Q 36 The vapour pressure of water at 296K is 19.8 mm of Hg, 0.1 mol of glucose is dissolved in 178.2g of water.  Calculate the vapour pressure  of resultant solution.    
Marks (3) 

Q 37 A solution is prepared by dissolving 30g of non-volatile non-electrolyte solute in 90g water.  The vapour pressure of solution was 2.8 K Pa at 298K.  When 18g of water was further added to it, the vapour pressure became 2.9 k Pa at 298K.  Calculate molar mass of solute. 

Marks (3) 

Q 38 Vapour pressure of pure water is 40mm.  If a non-volatile solute is added to it, vapour pressure falls by 4 mm. Calculate molality of solution. 
Marks (3) 

Q 39 Conc. H2SO4 has a density 1.9g/ml and is .99% H2SO4 by weight.  Find molarity of solution. 
Marks (3) 

Q 40 A solution contains 25% water, 25% ethanol and 50% acetic acid by mass.  Find mole fraction of each of the component.  
Marks (3) 

Q 41 Which will have more osmotic pressure and why?  
Solution prepared by dissolving 6g/L of CH3COOH or 
Solution prepared by dissolving 7.45g/L of KCl   

Marks (3) 

Q 42 A solution is prepared by mixing 50ml of chloroform and 50m
of acetone.  What will be the resulting volume of solution?
100 ml or   >100 ml or   <100 ml.         
Marks (3) 

Q 43 One litre sample of seawater is found to contain 5.8 x 10-3 g of dissolved oxygen. Calculate the concentration of dissolved oxygen in seawater in ppm.  (Density of seawater = 1.03 g/cc).  
Marks (3) 
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